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Instructions for Candidates

Write your Roll No. on the iop immediately on receipt of this question paper.

2. Each question has internal choice.

3. All questions are compulsory and carry equal marks.

4. Answers may be written in Hindi or English but the same medium should be
followed throughout the paper.
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(a) Explain the meaning of previous year. What would be the previous year for
new business started during the financial year ? Explain with example. (7)

(b) What do you understand by the term “Assessment year” and “Assessee” ?
(8)
OR

(a) “Income earned during previous year is normally chargeable to tax in the
assessment year”. What are the exceptions to this rule ? @)
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(b) Total income of Mr. R, aged 56 is Rs. 9,56,500. Compute the tax liability
for the assessment year 2013-14. Does it make any difference if it is Mrs.

R? (8)
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2. (a) When is an individual said to be resident but not ordinarily resident in India ?
What is the scope of total income in his case ? @)

(b) State giving reasons what will be residential status of the following assesses
for the previous year 2012-13

(1) Mr. Sharma an engineer, left India for London on 15" March 2012 for
taking practical training in engineering firms there. He returned to India
on 15™ April, 2013.

(i) Mr. Verma, an Indian Professor, left India on 15" April, 2012 for
U.S.A for higher education there. He remained there throughout the
rest of the financial year ending on 31 March, 2013. He was never
out of India in the past. ®)

OR
(a) How does the tax liability of a not ordinary resident (NOR) differ from

that of a resident and ordinarily resident (ROR) under Income Tax Act ?
Explain. (7)
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(b) Mr. Rowdy, a German national, came to India for the first time on 1-7-2006.
During the period from 1-7-2006 to 31-3-2013, he stayed in India as follows -
from 1-7-2006 to 31-10-2006; from 1-5-2007 to 31-10-2007; from
1-11-2008 to 31-12-2008 and from 1-7-2011 to 31-8-2012. During the
previous year ended on 31-3-2013, X’s income consisted of :

Income from business in India Rs. 40,000
Interest from an Indian Company Rs. 2,000
Dividend from non-Indian company received in

Germany but remitted to India Rs. 5,000
Income from business in Germany (controlled from India) Rs. 25,000

Income from house property in Germany Rs. 8,000

Determine the gross total income of Mr. Rowdy for the assessment year
2013-14 after ascertaining his residential status for the purpose of income

tax. (8)
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3. Mr. Rohit is employed with X Ltd. since 2003. He is entitled to the following

from his employer :

Basic Salary

D.A. (part of salary for retirement benefits)
Children education allowance for three children
Hostel expenditure allowance for three children

House rent allowance up to 31-10-2012
(rent paid for a house in Delhi Rs. 4,500 p.m.)

Medical allowance upto 31.10.2012

Rs.
Rs.
Rs.
Rs.
Rs.

Rs.

(Entire amount was spent on his medical treatment)

Commission 3% of turnover upto 31.10.2012
(Actual turnover Rs. 10,00,000)

Rs.

9,000 p.m.
2,000 p.m.
4,800 p.a.
100 p.m per child
3,000 p.m.

500 p.m.

30,000

With effect from 1.1 1.2012, he was given rent free accommodation in Delhi

which was owned by employer. Fair rent value of house is Rs. 1,20,000 p.a. He

was also provided 1500 cc motor car with driver w.e.f. 1-11-2012 to be used

partly for official and partly for private purposes. The expenses of running and

maintenance of car were met by Rohit himself.
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He was also given facility of watchman, sweeper and gardener right from
1-4-2012. The salary of each employee was Rs. 300 p.m.

Compute his taxable income under the head salaries for the assessment year
2013-14. (15)
OR

(a) Discuss the tax treatment of recognised provident fund. (7)

(b) Mr. B owns a big house (Municipal value Rs. 75,000) of the fair rent of
Rs. 84,000 p.a. During the previous year he used this house for his own
residence from 1% April 2012 to 30™ November 2012 and let out for
residential purpose on 1 December 2012 @ Rs. 7,800 p.m. He incurred
the following expenses in respect of this house: Municipal Tax Rs. 8,400;
Fire Insurance Premium Rs. 2,500; Ground Rent Rs. 1,000. A loan of
Rs. 90,000 was taken on 1% April 2009 @ 10% p.a. for construction of this
house which was completed on 31-5-2011. No part of the loan has been
repaid so far. Find out the taxable income from house property for the
assessment year 2013-14. (8)
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4. Mr. Ram Kapoor is the owner of a business. Following is his Profit and Loss
A/c for the year ended on 31-3-2013:

Rs. Rs.
Establishment charges 15,110 Gross profit 1,50,870
Rent, rates and taxes 2,900 Interest on Govt-securities (gross) 5,350
Sundry expenses 27,050 Rent form property 5,400
Household expenses 11,880
Provision for bad debts 11,200
Loss on sale of motor car
(used for private purpose) 1,800
Insurance premium (including
life insurance of Rs. 1,790) 2,880
Interest on bank loan 1,380
Provision for depreciation 6,400
Net profit 81,020

1,61,620 1,61,620
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Additional information :

(1) Bad debts written off during the year — Rs. 650.

(i) Admissible depreciation as per Income-tax rules — Rs. 1,600.

(1) The assessee is running his business in a rented property, half of which is
used by him for his own residence. Rent of Rs. 2,400 in respect of entire
house is included in rent, rates and taxes. The balance of Rs. 500 is on the

account of municipal tax paid for the entire property.

Compute the business income of Mr. Ram Kapoor for the assessment year

2013-14.

OR

1s)

(a) What are the provisions regarding depreciation under Income tax Act? (7)

(b) Following are the particulars of properties of Mr. Sameer for the previous

year 2012-13. Compute his income from house properties :

Construction started on
Construction completed on
Annual rental value
Municipal valuation
Municipal tax

Actual repair expenses
Interest on money borrowed for renovation
Insurance premium

Ground rent

Vacancy period

Rent collection charges

House A
31-3-1991
31-3-1992
30,000
25,000
2,500
2,000
1,200

200

150

3 months
1,000

House B
10-2-1987
1-6-1991
12,000
12,000
1,200
2,000

nil

175

100

nil

600

Both the above houses were let out for residential purposes. Insurance
premium of house A and ground rent of house B are still outstanding. Repair
expenses of the house A and municipal tax of house B were paid by the

tenant.

®)

PT.O.
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11,880

11,200

1,800

2,880
1,380
6,400
81,020

1,61,620
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®
1,50,870
5,350
5,400

1,61,620

(iii) FroiRe s e e @t gt F 9o w0 o fr@en sren W 98 U @
& forg eaemet o T@T o | Y0 R o R 2400 <, foen, X iR R A e
R foran @ A1 1 500 T AW T A F wqt gl @ forw wafifeee o o afr 2
e T @R w0 2013-14 frufor af & fog sream @ s sfiea S |

Jr=Adl

(%) @ = FAfEw & AT TOE & 99U A q T et H wqEy |

(@) Freex ¥R 9 wufeal &, fiod af 2012-13 & fog FeafoRaa e Re e &
TE-Fara A I W W SR T |




5358

5. (a)

(b)

(a)

(b)

9

WA W B
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o 9w g3 31-3-1992  1-6-1991
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forger 7 fow &

How is gratuity taxable under Income Tax Act, 1961 ? (7

What is meant by Annual Value of House Property ? What deductions are
allowed from Annual value while computing taxable income from let out

property ? (8)
OR

“There are certain expenses which are specifically disallowed while computing
business income in case of all assessee”. Discuss in brief. )

How is the tax treatment of education allowance different from that of

educational facility under Income Tax Act, 1961 ? (8)

(%) sma & A 1961 & sfawta I | HF o 00 B 7

PT.O.
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Jadr
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(100)
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